
    
    

Retroalimentación    

 

1. Centro: 𝐶(0, 0) 

Focos: 

𝐹(2√6, 0) 

𝐹′(−2√6, 0) 

Vértices: 

𝑉(4, 0) 

𝑉′(−4, 0) 

𝐿𝐿𝑅 = 4 

𝑒 =
√6

2
 

𝑎𝑠í𝑛𝑡𝑜𝑡𝑎𝑠  𝑦 = ±
√2

2
𝑥 

 

 
 

        Elementos  analíticos y gráficos de  

la  hipérbola   

  
  

    

  
  
    



2. Centro: 𝐶(0, 0) 

Focos: 

𝐹(0, 10) 

𝐹′(0, −10) 

Vértices: 

𝑉( 0, 6) 

𝑉′(0, −6) 

𝐿𝐿𝑅 =
64

3
 

𝑒 =
5

3
 

𝑎𝑠í𝑛𝑡𝑜𝑡𝑎𝑠 𝑦 = ±
3

4
𝑥 

 
 

 

 

 

 



3. Centro: 𝐶(0, 0) 

Focos: 

𝐹(√17, 0) 

𝐹′(−√17, 0) 

Vértices: 

𝑉(4, 0) 

𝑉′(−4, 0) 

𝐿𝐿𝑅 =
1

2
 

𝑒 =
√17

4
 

𝑎𝑠í𝑛𝑡𝑜𝑡𝑎𝑠 𝑦 = ±
1

4
𝑥 

 
 

 

 

 

 

 

 

 

 

 

 

 



4. Centro: 𝐶(−2, 2) 

Focos: 

𝐹(2, 2) 

𝐹′(−6, 2) 

Vértices: 

𝑉(1, 2) 

𝑉′(−5, 2) 

𝐿𝐿𝑅 =
14

3
 

𝑒 =
4

3
 

𝑎𝑠í𝑛𝑡𝑜𝑡𝑎𝑠: 𝑦 − 2 = ±
√7

3
(𝑥 + 2) 

 
 

 

 

 



5.Centro: 𝐶(1, 1) 

Focos: 

𝐹(1, 6) 

𝐹′(1, −4) 

Vértices: 

𝑉(1, 4) 

𝑉′(1, −2) 

𝐿𝐿𝑅 =
32

3
 

𝑒 =
5

3
 

𝑎𝑠í𝑛𝑡𝑜𝑡𝑎𝑠: 𝑦 − 1 = ±
3

4
(𝑥 − 1) 

𝑦 =
3

4
𝑥 −

1

4
 

𝑦 = −
3

4
𝑥 +

7

4
 

 

  


